
BCS Motor mowers, BCS 2-wheel tractors - STEERING COLUMN 

J.02.01.A0001_03 - STEERING COLUMN
17/06/2024

Page 1 / 2



BCS Motor mowers, BCS 2-wheel tractors - STEERING COLUMN 

J.02.01.A0001_03 - STEERING COLUMN
17/06/2024

Page 2 / 2

Pos. Id Q.ty Description Note

1 59056793N SUPPORT

2 56356924 FERRULE

3 58056918 SPRING

4 31100451 SCREW 3,5X25

5 55157213 GRIP

6 31111229 SCREW TE M10X110 UNI 5737 8G

7 31112165 SCREW TE C/F M8X35 DIN 6921 8G

8 59243337 ROD SUPPORT WITH SPRING REPLACES 55243340

9 59057010N LEVER

10 552C1776 IMPUGNATURA SUP NERA INSERTO

11 31241126 SELFLOCK NUT M12

12 31421100Z CUP SPRING 25X12,2X1,5 D2093

13 52156917 WEDGE

14 59056820N COLUMN

15 31241080 HEXAGON SELFLOCK NUT M8

16 56156948N STOP

17 58056942N SPRING

18 31241100 SELFLOCK HEXAGON NUT M10

19 31112293 SCREW TE M12X80 UNI 5737

20 58056991 CABLE GLAND 90/200/30

21 56156940 U BOLT

22 552C1779 INSERTO REG. STEGOLE


